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1. Prove by induction: 1+2+...+n < 1/8 (2o+1)*  for integer n>1. (18 43)

2. Let R be a symmetric and transitive relation on a set A. Show that if for every ae A there

exist be A suchthat(a,b)e R then Risan equivalence relation. (18 43)

A

3. Write the nodes of the given binary tree in b ‘i
a. 1norder,

b. postorder. (20 43) i \. R

4. Of 100 people surveyed ( lﬁ]ﬁLﬂﬁ) 52 were women, 40 eat breakfast, 30 eat lunch, 25 eat breakfast and

lunch, 27 were women who eat breakfast or lunch. How many were men who do not eat breakfast and do not
eat lunch? (14 4 ) '

5. Show that each of the following argument (i) is invalid ( ANIEME) by providing a counter example ( #&

[<B) - that is, an assignment of truth values for the given primitive statements p, q, r, and s such that all
primitives are true while the conclusion is false. ( IS5 P,q,1,8 HY ELSE 152 5004 primitives £ BIAH R

RS F (20 73)

a. [((pAq) =) A (—qvr)] = p

b. P
p—r

p—(qv—r)
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0. True or False. Explain. (10 4>

The total number of hum::ins (living and dead) who have been married an odd times is even. (R B RS Y
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